
Caseload Worksheet

[image: image1.wmf]
	Caseload Goal

	A
	My vouchered caseload goal is:
	
	clients

	B
	My current vouchered caseload is:
	
	clients

	C
	I need to increase my caseload by (A – B):
	
	clients

	D
	I plan to reach my vouchered caseload goal in:
	
	months

	E
	I need to increase my caseload an average of (C divided by D):
	
	clients/month

	Recerts

	F
	Number of recerts due each month:

(see Projected Number of Individual Appointment Requests)
	
	clients/month

	G
	My No Show rate for recertification appointments is (100 minus show rate% = No Show Rate): (e.g. 100 – 65% = 35%)

(Use the known value or your best estimate)
	
	

	H
	I will need to schedule this many additional recertifications each month in order to take my no-show rate for recert appointments in account (Multiply F by No Show Rate) e.g. F x 35% = 
	
	recert appointments/month

	Initial Certs

	I
	The number of projected terminations for each month is:

(Use the Transaction Report; add the number of auto terminations and the number of clinic terminations for each clinic)
	
	terminations

	J
	The number of projected recerts for pregnant women each month is:

(see Projected Number of Individual Appt. Requests); this gives you the number of infants from pregnant women on WIC you project you will add)
	
	women

	K
	The number of initial certs I will need to maintain my caseload is (I – J):
	
	initial certs/month

	L
	The number of initial certs I need to increase my caseload is (E):
	
	initial certs/month

	M
	The total number of initial certs I need to schedule is (K + L):
	
	initial cert appts.

	N
	My No Show rate for New appointments is (100 minus Show Rate % =  No Show Rate %)  (e.g.100 - 75% =25%):  (Use the known value or your best estimate)
	
	

	O
	I will need to schedule this many initial certification appointments each month in order to take my no-show rate for initial appointments in account (M divided by N):
	
	initial certification appointments/month


	Appointments

	P
	I will need to have this many initial cert appointments each month (O):
	
	appointments

	Q
	I will need to have this many recert appointments each month (H):
	
	appointments

	R
	The total number of certification appointments I need each month is (P + Q):
	
	appointments

	Number and Length of Certifier Appointments

	S
	I will have this many clinic days per month for certifications:

(Note:  If a satellite clinic has 6 hours for appointments and a main clinic has 8 hours for appointments, count the satellite clinic as .75 [6/8] of a clinic day)
	
	clinic days

	T
	I will average this many certifiers per clinic day during the month:
	
	certifiers

	U
	S x T =
	
	slots

	V
	Certifiers will need to be scheduled to see this many clients each day for certification appointments (R divided by U):
	
	certification appts/day/certifier

	W
	1.
In the morning, the first certification appointment starts at:

	
	am

	
	
In the morning, the last appointment is at:
	
	am

	
	
The difference between the two times is:
	
	hours

	
	2.
In the afternoon, the first certification appointment starts at:
	
	pm

	
	
In the afternoon, the last appointment is at:
	
	pm

	
	
The difference between the two times is:
	
	hours

	
	For the entire day, we set aside this many hours for appointment times (add W1 and W2, then multiply by 60 minutes):
	
	minutes

	X
	I need to allot an average of this many minutes per certification appointment for certifiers (W divided by V):
	
	minutes

	Implementation Date

	Y
	I will start having this many certification appointments on:
	
	date
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If you need this material in an alternate format, please call (503) 731-4022.
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